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10.

frafafRaa ¥ 9 fedl v W Ae fos:
(@1 Sifes AT
(3) MR @l T4 AER oTd &I IUARTar

What are the uses of forests ? How we over use
them ? What are the causes of deforestation ? 6

STl & FT—FaT SUAIREr 2 ? g9 o9
IHPT IUYIT PR W8 © ° a—dels & I
BRI RT & ?

OR(3121dT)

Explain in detail about water resources.
Sa—aarE 3 fawga e W |

Write short notes on any two of the following:

(a) Ozone layer 6
(b) Wind energy

(c) Renewable energy

fr=ifaRaa 7 9 fodl <1 wr e foa:
CIEISIEREG

(3) arg s

(3) w@urfas St

N4098 1637403

2019(Even)

Time : 3Hrs. Sem. IV - Arch
Eco & Environ.
Full Marks :70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥l @ IR T, UAS U BT A 13752 |
Answer all Five questions from Group B, each question

carries 4 marks.

qu-B & wft ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
U6 e & a9t e BT SR ¢S & o8 (AR HH )
BT AMRY, 3=4eMT 4 Siid € o ¥ad @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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5.

What are the causes of water pollution ? How they
affect our daily life ? 4

STA—UGHUT & HROT FT—FT 8 ? d AR
s Sfilas &1 $9a yarfag s & ?

OR(372rd)

What are the causes of air pollution ? How will
you check it ?

IR-UGNUT & FAT—FIT HIROT & ? AT I
8 A>T ?

What is rain-water harvesting ? 4

9 qrex BARET |7 8 ?

OR(3721d)

Write notes on any one of the following:
(a) Acid rain
(b) Biogas

frr=fefRaa & & fodt v wr e foa:
(31) tRrs aui
@) srar

N4098

(i)

(iii)

(i)

(iv)

3 1637403

SATEd d1 ol Sfig e @rar 2, 9
.................. HEd B |

(31) wTETET

(@) ITmerER

() wraTeY U9 ITHIERY <1

() 379 9 B 7L

The sequence of eating and being eaten
is in ecosystem is called on

(a) Food chain

(b) Food web

(c) Trophic level

(d) None of these

SHINREH ¥ T 3R @R S| &)
FGAT B oo ®ed 2|

(31) MR @

(8) AR STt

(\) Sif%s daa

(?) 379 A BIS T

The organism which feed on dead
organisms is called.

(a) Carnivorous

(b) Decomposeres

(c) Detrivorous

(d) None of these

P.T.O
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xx) favq gafawer feaq ... Ca

(&) 5th S
(]) 1stIJdcer

GROUPB

Answer all Five Questions. 4x5 =20

gl ufg gl & SR o

2.

Define any two of the following : 4
(a) Species and population

(b) Biotic and abiotic component

(c) Ecosystem

fo=gdl <1 & aR¥fa &
(31) wonfa va SEwEn
@) cifasw va sifas sorg
(¥) soiReH

OR(311d)

Write notes on food chain. Explain with diagram.

ﬁms‘[wwﬁaﬁv@|ﬁaa§maﬁﬁ
I

N4098

(vi)

(vii)

(vii)

(viii)

5 1637403

fodt i1 aER gaEar 4 e Sfi9
................... oifthd ddadl WX Bl 2 |

.................... resources can not be generated.
(a) Renewable

(b) Non-renewable

(c) Energy

(d) None of these

foar ST aedar 2 |

(1) T@arfa® w9 4§ g=: d]r B4 arern

(@) w@wifas wu 9 g4: 7E d9<1 8
qrelT

(&) S

(?) 379 q 1 LN

Deforestation means ................ of forests.
(a) Planting

(b) Cutting

(c) Generating

(d) None of these

P.T.O
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(xvi)

(xvii)

(xvii)

(xviii)

10 N4098

() Serd=
() 1 4 BIg &

.................... gas has the maximum
contribution to increase the green house
effect.

(a) CO2

(b) SO2

(c) N2

(d) CH4

................. forms a major part of acid rain.
(a) Nitric acid

(b) Sulfuric acid

(c) Carbon dioxide

(d) None of these

N4098

(x)

(xi)

(xi)

(xii)

7 1637403

& wicirefia & ufear §
SATfad H3d 2 |

(31) srafS

(d) ®rdT SIEIMIATSS

(|) gemx

(c) Aggie

Forest prevents ................. erosion.
(a) Soil
(b) Water

(c) Energy
(d) None of these

................. q9 ® &I BT Adhdl B |
(31) fed

(@) T

(&) Swif

(?) 379 @ @I T

Industrial waste may contain toxic ...........
(a) Chemicals

(b) Acids

(c) Both (a) and (b)

(d) None of these
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11.

OR(31214d1)
Write notes on acid rain.

tRre auf w® e ford |

What do you understand by global warming and
green houses effect ? 6

Tolide 9t vd W9 69 Y99 9 A9
T gHsd 2 7

OR(3721d)

Write short notes on any one of the following :
(a) Sustainable development
(b) Solid waste management

fa=ifeRaa 9 9 fodl v wr Aie fow:
(31) <dref@reli= fasra
(3) °r9 3rafldrse yde=

koksk

N4098 17 1637403

OR(31214d1)
Write notes on acid rain.

tRre auf ) e ford |

. What do you understand by global warming

and green houses effect ? 6

Toide arfifT vd W9 B89 Y99 9 A9
T gE3d © ?

OR(3721d)

Write short notes on any one of the following :
(a) Sustainable development
(b) Solid waste management

fa=iferRaa 9 9 fodl v wr e fow:
(31) <dref@relia fasra
(3) °ry 3rafldrse yde

skoksk
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